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P H|

AL PE A (m) 7 i A5 (m2) 25 7 1 5 (m2) & A (m3) S
NO. 0 — 1.1 — —
NO. 0+6. 0 6.0 2.0 1.55 9.3
NO. 0+8. 8 2.8 2.7 2.35 6.6
NO. 0+11. 8 3.0 0.0 1.35 4.1
NO. 0+12. 5 0.7 0.0 0. 00 0.0
NO. 0+19. 5 7.0 1.1 0.55 3.9

A F 19.5 23.9

a i 19.5 23.9
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i BB (m) W T A (m2) S W A (m2) & ## (m3) S
NO. 0+6. 7 — 6.9 — — NO. 0+8. 8T If
NO. 0+8. 0 0.5 6.9 6.90 3.5 |NO. 0+8. 8Ikr T
NO. 0+8. 8I¥7 i
Bl 8.9 — — UK EEER)
NO. 0+8. 8I¥F i
NO. 0+8. 8 0.8 8.9 8.90 7.1 UK EEER)
NO. 0+8. 8I¥F i
NO. 0+9. 6 0.8 8.9 8.90 7.1 UK EEER)
[ 147 6.9 — — NO. 0+8. ST
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NO. 0+7. 0 6.5 86. 1 43. 05 279.8 [NO. 0+8. SWTIH
NO. 0+8. 0 1.0 86. 1 86. 10 86.1 [NO. 0+8. 8k
NO. 0+8. 8I¥F i
[ 47 72.8 — — UK EEER)
NO. 0+8. 8I¥F i
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/N 2 14. 0 809. 5
& i 14.0 809. 5




W AR R R R

G FR o CERWTE AR R

ARG (W<2.5)

AL PE A (m) 7 i A5 (m2) 25 7 1 5 (m2) & A (m3) S
NO. 0 — 1.6 — —
NO. 0+6. 0 6.0 1.1 1.35 8.1
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A F 19.5 23,6

a i 19.5 23.6
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AL PE A (m) % &) R (m) i A (n2) S
NO. 0+6. 0 — 0. — —
NO. 0+6. 5 0.5 5. 2.50 1.3
NO. 0+6. 7 0.2 6. 5. 50 1.1
NO. 0+8. 0 1.3 6. 6. 00 7.8
[ 0.0 2. — —
NO. 0+9. 6 1.6 2. 2. 80 4.5
[ 0.0 6. — —
NO. 0+10. 1 0.5 6. 6. 00 3.0
NO. 0+12. 9 2.8 0. 3. 00 8. 4
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NO. 0+7. 0 2.3 10. 9.45 21.7
NO. 0+8. 0 1.0 10. 10. 30 10.3
NO. 0+9. 6 0.0 10. — —
NO. 0+12. 3 2.7 10. 10. 30 27.8
[ 0.0 4. — —
NO. 0+12. 7 0.4 0. 2. 40 1.0
NO. 0+12. 3 0.0 5. — —
NO. 0+13. 3 1.0 2. 4.10 4.1
NO. 0+14. 5 1.2 0. 1.35 1.6
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NO. 0-0. 4 — 0. — —
NO. 0+0. 3 0.70 10. 5. 00 3.5
NO. 0+6. 0 5. 40 9. 9.75 52. 7
NO. 0+6. 3 0. 20 9. 9. 50 1.9
[ 0. 00 8. — —
NO. 0+6. 4 0.05 8. 8. 40 0.4
NO. 0+9. 5 0. 00 8. — —
NO. 0+9. 6 0.05 8. 8. 40 0.4
[ 0. 00 9. — —
NO. 0+12. 0 2.10 9. 9. 50 20. 0
NO. 0+13. 9 1. 90 9. 9. 45 18.0
NO. 0+19. 2 2. 60 0. 4. 70 12.2
Az 13,00 109. 1
a i 13. 00 109. 1
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NO. 0 — .01 — —
NO. 0+6. 0 6.0 . 60 0. 805 4.8
NO. 0+8. 8 2.8 . 64 0. 620 1.7
NO. 0+9. 9 1.1 . 64 0. 640 0.7
NO. 0+12. 0 2.1 .42 3. 530 7.4
NO. 0+14. 2 2.2 .42 6. 420 14.1
NO. 0+19. 5 5.3 . 60 3.510 18.6

o Z 19.5 47.3

a8 Z 19.5 47.3
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NO. 0 — .01 — —
NO. 0+6. 0 6.0 . 60 0. 805 4.8
NO. 0+8. 8 2.8 . 64 0. 620 1.7
NO. 0+9. 9 1.1 . 64 0. 640 0.7
NO. 0+12. 0 2.1 .42 3. 530 7.4
NO. 0+14. 2 2.2 .42 6. 420 14.1
NO. 0+19. 5 5.3 . 60 3.510 18.6
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NO. 0+6. 0 6.0 .50 0. 705 4.2
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B WG T T A7 7 )V b EiERE 4cm m 24.5
i R T A7 7)V b 4em m2 36. 1
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a7 ) — NBGE
b Mo 7 U — bk m3 5.4

a7 Y — hikE
b Fiha s 7 U — bk m3 1.6
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ﬁé% — > —_—
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WER PRAOIE FEARSEE L L=6. 8m
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W AR R R R

BER AR L

] PE A (m) 7 i A5 (m2) 25 7 1 5 (m2) & A (m3) S
NO. 0 — 1.0 — —
NO. 0+6. 0 6.0 2.9 1.95 1.7
NO. 0+8. 8 2.8 1.0 1.95 5.5
NO. 0+12. 0 3.2 0.7 0.85 2.7
NO. 0+19. 5 7.5 0.5 0. 60 4.5

R 19.5 244

a 19.5 24,4
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NO. 0 — 0.91 — —
NO. 0+6. 0 6.0 0.50 0.705 4.2
NO. 0+8. 8 2.8 0. 54 0.520 1.5
NO. 0+12. 0 3.2 5.17 2. 855 9.1
NO. 0+19. 5 7.5 0.50 2. 835 21.3

A F 19.5 36,1

a i 19.5 36,1
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V2=1.6
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TAT 7Lk (& :1.44X2.35=3.38t) 1.4 m3
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THEMERE L
ok PE A (m) 7 i A5 (m2) 25 7 1 5 (m2) & A (m3) S

A-A-7.5 — 0. — —
A-A 7.5 2. 1. 40 10.5
B-B 5.5 L. 2.15 11.8
cC 7.0 4. 2. 80 19.6
C—C+2. 4 2.4 4. 4. 10 9.8
D-D-3.7 0. — —
D-D 3.7 8. 4. 20 15.5
D-D+1.5 1.5 8. 8. 40 12.6
C—C-2. 1 8. — —
c=C 2.1 8. 8. 50 17.9
B-B 7.7 2. 5. 30 40. 8
B-B+3. 0 3.0 0. 1. 05 3.2

R 40.4 141.7

a 40.4 141, 7
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Bk - 121.20+2.972=40. 78>  41#%) 121.2 m2
KA+ 5 KA+ 5 ERIE - ik
NI= (1.12X1+7.92X1+4. 0 X 1+39. 86 X 2+9. 0 X 1+8. 87 X 1+3. 96 X 1
s s EAERA |+1.85X1) / (1.08X1.10) =98
N2=(6.55X 1+3. 2X 14+21. 0X 2+4. 0X 1) / (1.08X1.10) =47
N3= (20.07X2+4. 0X 1+21. 03X 1+8.0X 1) / (1.08X1.10) =62
KIEA-D
N=098+47+62=2074%
hEE s ARG
V2=207 X 1. 0=207m3 207 4%

VNITEROEY 1T

BIET T AT v

Tt ISy BEETTAF w7 18H7-0 2t
V3=207X%0.002/0. 35=1. 18
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